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Plot Sensor and FgRec Data
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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Warning: col ['M_E'] missing
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FE XK it [l RECEI R R 5% .

HEEIKECE (2352.0 vs 3240.0) R
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Warning: col ['M_E'] missing
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BflE) | GEBRAMK @) | ERE(ERH/ | EREE (/R [ XS R

07:15 288 150.0 0.588 F[ BRi&e07:15 Bz CGRAEREESE)
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17:05 288 150.0 0. 588 El {Rige17:05 B3 (RAERSE)
21t 4320.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5
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RE R ERHHEREC/PHIE SR, AIAESLIMAREL R SR
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150 e ————Ff———————f——f————f
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 17‘595;’27— 2000
100 - L 1500 5
1064 =
87 L 1000 =
50 =
L 500 -
00 Warning: lcol [FVI',| "FVO’'] missing 8 0
0 -0
1m0 L FRV _ i I I R — mw P30
T maxM
+
S
< 100 A “ - 20
— =
E
> 501 10
[
1.0
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
2800
optEC0=2600. 0, setECB=2080.0 [ ] ® o —¢—  ECBx10%
2200 o9 ° ® ECC
A S L LT T e S -)(—)(—)(—)(—)(—)(—)’(—‘—).(—i—)(—!—)‘(- ----------------------------
°
2000
1900 -
7.0 optPHO=6.5, setPHB=6.5 —¢  PHB*10%
® PHC
o0 06 06000 060 0 0 0 .
6.5 P e e e e — — — —
6.0 -
1
~ Bylnit D64 02:01: ET=985 Fg=1050.0 Ro=116.0 3000 _
£ 400 ! 2
o i =
e I L 2000 &
£ | E
= 200 - } e—o—o -
E i e & o L 1000 o
— I §
[in] 1 o
b o - o e
0 - - 0
0 1 2 3 7 5 6 7 8 9 [ 10 11 [ 12 [ 13 | 14 [ 15| 16 | 17 | 18 | 19 [ 20 [ 21 | 22 | 23
— HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES 3000 —
_E, 400 | B B B B B B B B B B B B B B B B B B B | B B B B B _E,
()] ©
— ByEt @D61 19:04:|ET=1892 Fg=1950. 0 Ro=nan 1 —
s y g L 2000 &
£ E
= 200 -
= - 1000 i
= 3
) o ——0———©
0 p———ap PN P Y 0
0 1 2 3 ] 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 ] 14 [ 15 ] 16 [ 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
— HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE HEE ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES 3000 —
_E, 400 | B B | B B B B B B B B B B B B B B B B B B B B B B _E,
= ByWoFv @D64 02:01: ET=1727 Fg=2250.0 Ro=374.0 =2
e ) L 2000 &
£ | E
= 200 - }
£ I L 1000 &
— I §
[in] 1 o
p— o —@ & —©
1.0 -p—ap P N P N 0
0 1 2 3 ] 5 6 7 8 9 [ 10 [ 11 [ 12 | 13 ] 14 [ 15| 16 | 17 [ 18 | 19 [ 20 [ 21 | 22 | 23
0ol T | % | | | | | | | m® @ | m | m | m | m | m | m | m | m|m || m|m|E]®
0.6 -
0.4 -
0.2 -
0.0
—_— 4
1500 - ® | obs
—@— PPFD obs
1000 -
500 -
100
U
80 -
—— RH
60 - [ ] RH_ObS
(] RHo_obs
40 -




T T T
700 800 900

m=610,m FV0=0

T
600

500

T
1000

16. 8

16. 6

16. 4

16. 2

16. 0

15. 8 A

—— MW

i
£

6i5 6é0
m=750,n FV0=0

19 4

18 1

17 4

16

—o— MW

=
=

755 7é0
m=910,n FV0=0

17.5 4

17.0 A

16.5 A

16. 0

15.5

- MW

-
-

915 920

m=490, FV0=0

M_W

495 500
m=640,n FV0=0

490

26

24

22 -

20 A

18 4

16

—— MW

6&5 660
m=785,n FV0=0

T
640

28

26 -

24

22 -

20 A

—— MW

750 755
m=955,n FV0=0

785

19.5 4

19.0 A

18.5 A

18.0 4

17.5 4

17.0 A

—— MW

955 960 965

19.

19.

19.

18.

18.

18.

m=525, FV0=0

24

22 -

20 -

18

16

—— MW

T T
525 530 535

m=675,m FV0=0

25 -

20 -

15 1

—— MW

6é0 6é5
m=830,n FV0=0

T
675

—o— MW

830 835 840

Warning: col ['M_E'] missing

0.

0 0.2 0.4 0.6 0.8

13.

12.

12.

11.

11.

10.

27.

25.

22.

20.

17.

15.

m=565, FV0=0

—— MW

16

15 +

14 4

5%0 5;5
m=710,m FV0=0

7%5 7é0
m=870,n FV0=0

T
710

| —e— mw

8%5 850
m=490,n FV0=0

870

Warning: col ['M_E'] missing

0 T T T T

0.2 0.4 0.6

0.8 1.

0



m=525, FV0=0

Warning: col ['M_E'] missing
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